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Sel: 2RHAWA s (29l & 2)
SN EH - (EH) - HRAY - BES 0] &k o4 p/E-T Hl D2
3N TS 25,086,575 19,030,705 6,005,870
2 28,767 28,767 0
| 7,009,926 5,688,626 1,321,300
= 17,997,882 13,313,312 4,684,570
OHIE NI =Y 23,593,772 17,589,912 6,003,860
2 28,767 28,767 0
Jl 7,009,926 5,688,626 1,321,300
= 16,555,079 11,872,519 4,682,560
22 23 491,200 366,200 125,000
o4 RS - ol 225 75,000 25,000 50,000
307 212+0I & 75,000 25,000 50,000
04 QILEA AL BT 75,000 25,000 50,000
O ML %A Ty N 75,000 25,000 50,000
NAPMLH 88F =W 240,300 195,300 45,000
307 212H0I H 142,300 97,300 45,000
04 QIZFEAFALY & T 45,000 0 45,000
OLHAFL SHOSHE M X & 45,000 0 45,000
FUAKDE 2Y N (RNETHNL) 30,000 0 30,000
307 212H0I 30,000 0 30,000
02 SIABMANLEE 30,000 0 30,000
OXEE BUINDS 2 X 30,000 0 30,000
HEANT BN 13,353,385 9,826,725 3,526,660
| 6,909,926 5,688,626 1,221,300
= 6,443,459 4,138,099 2,305,360
HEANT ALEUS XA (D) 1,510,200 365,400 1,144,800
403 RHXISH ST 0l & 1,510,200 365,400 1,144,800
01 KbXISHH Xt & X 1,510,200 365,400 1,144,800
ORHSTAIZ YHBCCTV L1 (H&) 12,000 0 2,000
OZHNTAF QHYAT SXI(HE) 7,200 0 7,200
OZHRLANT 2YAL SX(H&) 60,000 0 60,000
OZHEANE LA N (RE) 168,000 0 168,000
OZHBESAY OIHO0IS & (H&) 360,000 0 360,000
OSHLSEHAAT LT DH(HE) 33,600 0 33,600
OSHSBAIZ OFJNO0IE £X L =AY
(®a) 276,000 0 276,000
OYYHEANET NUDEY S LX (M 228,000 0 228,000
HENT =S A& Ha 105,000 70,000 35,000
403 RHXISH S T2 0l R 105,000 70,000 35,000
01 X ESHA =X 105,000 70,000 35,000
ORESYANAHSAF O1FH0IE 24 10,000 0 10,000
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SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
OJ3FERAE CCTVE WA 25,000 0 25,000
AXSHSMYG (SHEFXH) 201,800 0 201,800
403 A X EHHS =0l A 201,800 0 201,800
01 AXISHHA=2E = 201,800 0 201,800
OFd A d dAEds XN& 201,800 0 201,800
FASZMEAAMY (XH2)(Z2) 7,545,960 6,080,400 1,465,560
J| 6,288,300 5,067,000 1,221,300
£ 1,257,660 1,013,400 244,260
403 A X EHHS =0l A 7,545,960 6,080,400 1,465,560
J| 6,288,300 5,067,000 1,221,300
S 1,257,660 1,013,400 244,260
01 HXSHHGEEE 7,545,960 6,080,400 1,465,560
OHSANE =Xty AE 7,376,400 6,080,400 1,296,000
J| 6,147,000 5,067,000 1,080,000
=) 1,229,400 1,013,400 216,000
OHSANE =XHE HE=S 169,560 0 169,560
J| 141,300 0 141,300
< 28,260 0 28,260
HSAE etd2el X3 1,084,520 649,520 435,000
308 MtXIEHMSOIH 1,084,520 649,520 435,000
01 HXHHBEEES 1,084,520 649,520 435,000
OESAZE CHE QA HIX 946,000 536,000 410,000
OXSAZE MU A3 X 25,000 0 25,000
ESt2ZAE SH(2HAEXH) 372,900 158,400 214,500
308 XXM SO0 A 372,900 168,400 214,500
01 HIXNHHNBNEES 372,900 158,400 214,500
O22ZANE &4 372,900 168,400 214,500
HUZS ZHAL(2HAEFILH) 264,000 234,000 30,000
308 AHXIEHHMSOIE 264,000 234,000 30,000
01 AXHHBIYEES 264,000 234,000 30,000
OFYEE XA 264,000 234,000 30,000
Sot2ele AHINES 1,972,267 1,272,267 700,000
= 28,767 28,767 0
S 1,943,500 1,243,500 700,000
L4330 HUYE RSEHS 25 1,000,000 600,000 400,000
308 MHXIEHSOIH 1,000,000 600,000 400,000
1 3I2SOHEHE & X 2 AL I 1,000,000 600,000 400,000
OZ3EE QZEY HHEY 2IAY 1,000,000 600,000 400,000
=ctl 23 A HAE 400,000 100,000 300,000
308 MHXIEHSOIH 400,000 100,000 300,000
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SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
N 3JN2Sote3aH2AE AR 400,000 100,000 300,000
o2ctQl 23 MY HAE FH 400,000 100,000 300,000
aa3e X3 6,826,920 5,174,720 1,652,200
J| 100,000 0 100,000
= 6,726,920 5,174,720 1,552,200
2830 IFEHIANE FA 12,500 2,500 10,000
308 XXM SOIA 10,000 0 10,000
01 AXHHBAEES 10,000 0 10,000
OLaZo ANE E2AMY 10,000 0 10,000
2430 F2Y & JIAEENS 0XNEN A 5,203,420 4,512,220 691,200
308 MtXIEHMSOIH 5,203,420 4,512,220 691,200
13 2SOHEHE & X 2 AL I 5,203,420 4,512,220 691,200
OAaZ0 FIHIINZ ESx== XA 1,728,000 1,036,800 691,200
HMZmol g43(=21) 200,000 0 200,000
J| 100,000 0 100,000
< 100,000 0 100,000
308 A EHHSOIA 200,000 0 200,000
J| 100,000 0 100,000
< 100,000 0 100,000
N3J2soeEaE2AS AR 200,000 0 200,000
OM=ZHOol 483 XI&AY 200,000 0 200,000
J| 100,000 0 100,000
= 100,000 0 100,000
NAAMNESSHE NNHH =H X2 751,000 0 751,000
306 == 751,000 0 751,000
01 &3 751,000 0 751,000
OLJNNEZEMMH & 751,000 0 751,000
MRS (FHMEER) 1,361,330 1,359,320 2,010
BEX= 2,010 0 2,010
ZHUERZ 2 NEXZ & 2,010 0 2,010
802 Btet= DI Et 2,010 0 2,010
01 2 DNEX=ttet= 2,010 0 2,010

©'208 ZZLH9 Hlof Aa3e FEMMHE X
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